@ 30° @ 40° ® 50° @60° ® 70°

B !
CD & dgshd
LCDE = 90°, /BAC = /BDC = 30°
LCDE = /BDC + /BDE = 30° + a° = 90°
.. La = 60°




thS 1804 27+ ABCDE = € 0 9]
WHsHY £COD = 40° € u, /B+ (E 9]
2717

@® 180° @ 185° ® 190° @ 195° @ 200°

B ~

e Ao BENS 0w
(B+/AEC = 180°, /CED = 40°x
L 20°

2
S /B4 /E=180°+20°=200°




32 AJ4=2] 5 3] 2] A& A7) axEN [ 1 [ 234
T4 2R AN HPE W [AFH) [ 84 |78 [ 80 | 76
Ebdl oot tha Aol 2
A& wrotof to] 75 Hol HA=
® 55 4 @57@ @598 @®@6ad G63d
ol ool & Ha5 x Hol2tal 3t
- 76 318
(%&):844-784-?04— et 5+x:75, 318 +
%= 37— 51
oHEbA 57 & Tom Bk 75 Hol 2 4 gl




%%]: x19-x2,+"'+-xn9’] rg'ﬁ-o] 40]1
3x1 —5,3x2 = 5,-++,3x, — 52 Ho m}
S it

® 10 @ 12 ® 14 ®)16 ® 18

B )

X1,X2,+ -+ Xy

=4
n
(8x1 = 5) + (3x2 = 5) + -+ + (3x, — 5)+
n
3(x1 +x2+---+x,) —5n

n
=3:4-5=12-5=7=m
(=94 (2 =4+ -+ (=42 _

=32=9% o,
(3x1—5—7)2+(3r;2—5—7)2
++---+<3;_5_7>2
_ {3(x1—4)2f+{3(x2—4)2}+---+{3(x,,—4)2}
_ 9{(x1—4)2+(x2—4)2:--+(xn—4)2}
=9.9=81 '

wrabA] EEHAFn = V81 = 90|t}
o2t m4n=7+9 = 16°|ch




(o]

Al 4= a, b,C—/]-‘l:]—T'ILO]Z,—E«/ﬂ' ]4%111]1, HeF g +3, b+3, c+3
of W} R4S A2 g AL

@25 @35 @44 @54 G065

B ‘

Al 4= a, b, ¢ & Bto] 20|E2

a+b+c

3

At btc=06 - @

F3h a, b, ¢ O] BAto] 40|B 2

(@=2)2+ (b-2)% + (c - 2)°
3

(a=2)2+(b-2)2+(c-2)?=12

@ —4da+4+b—4b+4+c2—4dc+4=12

A+b2+c-4lat+b+c)+12=12

9] Ao @& st

2 4+b2 4+ -4%x6+12=12

a4+ b =24

StHH, a+3, b+3, c+3 9 A2

(@+3)+(®+3)+(c+3) (atb+c)+9

3 3

=

=4

= ——=35

A AR
(@+3-5°+(+3-5°+(c+3-5)°
3
(@a-2)24+(b-2)2+(c-2)2
3
a2+ +c?—4la+b+c)+4x3

C24-4x6+12 12




